Age Distribution Practice
For each of the following cities, construct an age pyramid.

· The shape of the axis is an upside down T. The middle vertical line divides the males and females.  Each line is worth 5 years of age.  Label lines from year 0- year 80.
· Make a heavy dark line at 15 years.  Make a heavy dark line at 45 years.  Label the area from 0-55 as “Children”.  Label 15-45 as “Reproducing adults/ Work force”.  Label 45-80 as “Elderly adults. 
· The middle line is 0% of the population.  Each line moving out from the middle line is 0.5% of the population. Label from 0% to 5%.
· Males are graphed on the left.  Females are graphed on the right.
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	Age of Male
	% of population
	
	Age of females
	% of the population

	0-4
	4.0
	
	0-4
	3.5

	5-9
	4.0
	
	5-9
	3.75

	10-14
	4.0
	
	10-14
	4.0

	15-19
	3.5
	
	15-19
	3.5

	20-24
	3.5
	
	20-24
	3.25

	25-29
	3.75
	
	25-29
	3.5

	30-34
	4.0
	
	30-34
	3.75

	35-39
	4.0
	
	35-39
	4.0

	40-44
	3.5
	
	40-44
	4.0

	45-49
	2.75
	
	45-49
	3.5

	50-54
	2.0
	
	50-54
	2.75

	55-59
	1.5
	
	55-59
	2.0

	60-64
	1.25
	
	60-64
	1.75

	65-69
	1.0
	
	65-69
	1.5

	70-74
	1.0
	
	70-74
	1.5


Draw separate Age Distribution Pyramids for the following Michigan Counties.

Kent County:
	Age of Male
	% of the population
	
	Age of females
	% of the population

	0-4
	4.0
	
	0-4
	3.75

	5-9
	4.0
	
	5-9
	4.0

	10-14
	4.0
	
	10-14
	4.0

	15-19
	4.0
	
	15-19
	3.75

	20-24
	3.75
	
	20-24
	3.75

	25-29
	3.75
	
	25-29
	3.5

	30-34
	4.0
	
	30-34
	3.75

	35-39
	4.0
	
	35-39
	4.0

	40-44
	4.0
	
	40-44
	4.0

	45-49
	3.5
	
	45-49
	3.5

	50-54
	2.75
	
	50-54
	3.0

	55-59
	2.0
	
	55-59
	2.0

	60-64
	1.5
	
	60-64
	1.5

	65-69
	1.25
	
	65-69
	1.5

	70-74
	1.0
	
	70-74
	1.5


1. What kind of pyramid does this graph show?
Alcona County
	Age of Male
	% of population
	
	Age of females
	% of the population

	0-4
	2.0
	
	0-4
	2.25

	5-9
	3.0
	
	5-9
	2.5

	10-14
	3.0
	
	10-14
	2.5

	15-19
	3.0
	
	15-19
	2.5

	20-24
	1.25
	
	20-24
	1.5

	25-29
	1.5
	
	25-29
	1.75

	30-34
	2.5
	
	30-34
	2.25

	35-39
	3.25
	
	35-39
	3.0

	40-44
	3.5
	
	40-44
	3.25

	45-49
	3.25
	
	45-49
	3.5

	50-54
	3.75
	
	50-54
	3.75

	55-59
	4.0
	
	55-59
	4.25

	60-64
	4.5
	
	60-64
	4.0

	65-69
	4.0
	
	65-69
	3.75

	70-74
	3.5
	
	70-74
	3.0


2. What kind of pyramid does this graph show?

3. Describe two differences in the populations of Kent and Alcona counties.
Allegan County

	Age of Male
	% of population
	
	Age of females
	% of the population

	0-4
	3.5
	
	0-4
	3.5

	5-9
	4.0
	
	5-9
	4.0

	10-14
	4.5
	
	10-14
	4.0

	15-19
	4.0
	
	15-19
	3.75

	20-24
	2.75
	
	20-24
	2.5

	25-29
	3.0
	
	25-29
	3.0

	30-34
	3.5
	
	30-34
	3.5

	35-39
	4.25
	
	35-39
	4.25

	40-44
	4.5
	
	40-44
	4.25

	45-49
	3.75
	
	45-49
	3.75

	50-54
	3.0
	
	50-54
	3.0

	55-59
	2.5
	
	55-59
	2.5

	60-64
	2.0
	
	60-64
	2.0

	65-69
	1.75
	
	65-69
	1.5

	70-74
	1.25
	
	70-74
	1.5


4. What kind of pyramid does this graph show?

5. Describe two differences in the populations of Kent and Allegan counties.

Looking at all three graphs:
6. What is unusual about the number of working adults in Alcona County?

7. Infer: What are two problems that Alcona County may have that Kent/Allegan may not?

8. Which two counties have a lower number of young adults (20-35)?

9. Infer one reason that these counties in Michigan may be losing young adults.

10. Compare the percentage of boys under age 19 to the percentage of girls under age 19.

11. Compare the number of men over age 49 to the number of women over age 49.

12. Describe two differences between Allegan and Alcona counties.







